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Today most experts believe that soon the pensions system is to be broke. There is to be a dramatic shortage of money that must lead either to a squeeze of pensioners or to a squeeze of the working population or both.



Herein is the underlying of the push for reforms by governments and the leader is the French government which has just unveiled the Salvation Agenda: the working population is to be squeezed now and pensioners as well. In the meantime, fiscal surpluses are targeted out of spending cuts while one revels in the speculative overvaluation of the Euro. But a very few bold exceptions, no one amid the orthodox heterocommunity of French economists and many responsible unions as well dare to doubt the fundamental principles of the pension bankruptcy doctrine and just dally with details of the bailout.



In this short note, like Robert Eisner, Randall Wray and William Vickrey before, I want to prove that from a pure scientific perspective, far from any doctrinal rhetoric, there cannot be a shortage of money for pensions. To take care of the false financial problem, one is doomed to create a real scarcity problem.



Let us look at a global economy, which is a set of sectors each with a deficit �CARSPECIAUX 62 \f "Symbol" \s 12�>��CARSPECIAUX 60 \f "Symbol" \s 12�<� 0 equal to its outlays minus its inflows or receipts.



Firms			DF

State			DG

Working population	DW       (includes all kind of income earners ; workers employees, entrepreneurs...)

Pensioners		DP

Foreign		DE



[1]	�CARSPECIAUX 83 \f "Symbol" \s 12�S� D �CARSPECIAUX 186 \f "Symbol" \s 12�º� 0



Let us assume that in France to comply with the GSP enshrined into the future european constitution  DG �CARSPECIAUX 186 \f "Symbol" \s 12�º� 0 while a balanced trade account is maintained DE �CARSPECIAUX 186 \f "Symbol" \s 12�º� 0

From [1] stems that



[2]	DF �CARSPECIAUX 186 \f "Symbol" \s 12�º� �CARSPECIAUX 45 \f "Symbol" \s 12�-� (DW + DP)



or 



�CARSPECIAUX 45 \f "Symbol" \s 12�-� DF �CARSPECIAUX 186 \f "Symbol" \s 12�º� (DW + DP)

which means that a net aggregate saving of households (negative deficit) is an equal net deficit of firms. Firms net deficit is reflected by aggregate profits lower than investment, which means a negative cash-flow.



Now (all deficit being net of taxes levied to maintain balanced budgets)



[3]	�CARSPECIAUX 45 \f "Symbol" \s 12�-� DW �CARSPECIAUX 186 \f "Symbol" \s 12�º� S �CARSPECIAUX 186 \f "Symbol" \s 12�º� W �CARSPECIAUX 45 \f "Symbol" \s 12�-� CW



S being household net saving,  CW their consumption outlays and W their income. [3] must be always positive because of the exogenous forced saving. Since pensioners spend all their income, they do not save (R �CARSPECIAUX 186 \f "Symbol" \s 12�º� CP)

R being pensions income, CP pensioners outlays , S being ultimately the « forced savings » financing pensions. Or :



[4]	�CARSPECIAUX 45 \f "Symbol" \s 12�-� DP �CARSPECIAUX 186 \f "Symbol" \s 12�º� R �CARSPECIAUX 186 \f "Symbol" \s 12�º� CP 



Therefore the aggregate deficit of households is ultimately



[5]	DW+ DP �CARSPECIAUX 186 \f "Symbol" \s 12�º� R �CARSPECIAUX 45 \f "Symbol" \s 12�-� S�CARSPECIAUX 186 \f "Symbol" \s 12�º� CP �CARSPECIAUX 45 \f "Symbol" \s 12�-� S



and F being firms cash-flow



[6]	F �CARSPECIAUX 186 \f "Symbol" \s 12�º� �CARSPECIAUX 45 \f "Symbol" \s 12�-� DF �CARSPECIAUX 186 \f "Symbol" \s 12�º� CP �CARSPECIAUX 45 \f "Symbol" \s 12�-� S



or



[7]	�CARSPECIAUX 80 \f "Symbol" \s 12�P� �CARSPECIAUX 186 \f "Symbol" \s 12�º� F + I 



�CARSPECIAUX 80 \f "Symbol" \s 12�P� being aggregate profits reflecting the excess of receipts over production outlays, 

I being net investment and F the firms net cash-flow.



with three cases:



1.	R = S		CP = S		F = 0

2.	S > R		CP  < S 	F < 0

3.	R > S		CP  > S 	F > 0



Now let us take care of the Pension Fund. Its inflow is S collected on the working population; its outflow is R, the income of pensioners.

The net aggregate deficit of the households sector DW + DP is identical to the Pension Fund deficit DPF (the excess of pensions payments over the Pension Fund receipts) , which is therefore identical to firms cash-flow or monetary profit.



Case one	DPF �CARSPECIAUX 186 \f "Symbol" \s 12�º� 0 �CARSPECIAUX 186 \f "Symbol" \s 12�º� F

Case two     �CARSPECIAUX 45 \f "Symbol" \s 12�-� DPF �CARSPECIAUX 186 \f "Symbol" \s 12�º� S �CARSPECIAUX 45 \f "Symbol" \s 12�-� R �CARSPECIAUX 186 \f "Symbol" \s 12�º� �CARSPECIAUX 45 \f "Symbol" \s 12�-� F

Case three	DPF �CARSPECIAUX 186 \f "Symbol" \s 12�º� R �CARSPECIAUX 45 \f "Symbol" \s 12�-�S �CARSPECIAUX 186 \f "Symbol" \s 12�º� F

with always F + I �CARSPECIAUX 186 \f "Symbol" \s 12�º� �CARSPECIAUX 80 \f "Symbol" \s 12�P�



From this set of logical identities (nobody should doubt, how could he/she doubt?) stem the following propositions.



I.	When the State targets DG = O (or worse DG < 0) and when there is no deficit of the foreign sector, the sole existence condition of a positive cash-flow is an accounting deficit of firms. Any PF deficit has an identical counterpart as a positive cash-flow in firms balance sheet.



II.	The whole net households deficit is instantaneously transformed into an equal cash-flow reflecting the rise in firms liquidity and therefore the rise in the value of firms capital assets, which may sustain the rise in investment.



III.	Under the assumption (rather germane to the market capitalist economy) that firms target a positive F, the PF deficit is required as long as there are no other sources of F.



IV.	Those who doubt those propositions do not understand that pension is an income generating productive expenditures since they contribute to the value of output.



Is there some problem raised by the necessity of financing the PF deficit? No, there cannot be such a problem because we are in a monetary economy relying on the creation and destruction of money through the bookkeeping operations of banks.



For the very sake of simplicity, let us abstract from the financing of I (I discussed elsewhere).



Firms



borrow to banks		W



recoup from households	W + (R �CARSPECIAUX 45 \f "Symbol" \s 12�-� S)



reimburse			W



get ultimately a		F accounted as liquid net wealth which

cash-flow in money		is that share of the newly created money

				not destroyed in the reflux reflecting the reimbursement of firms 

                                              debt to banks



In banks balance sheet F is accounted as liabilities held by firms (before to be recycled). The net increase in banks liabilities must have a counterpart on the assets side, which is nothing but the increase in the PF liabilities to banks. Nobody must doubt



Banks��Assets��Liabilities��+ F���CARSPECIAUX 45 \f "Symbol" \s 12�-� F��



Firms��Assets��Liabilities��I + F��+ 0��



PF��Assets��Liabilities��+ 0��+ F��



It means that banks created initially R to pay pensions and ultimately recouped S leading to an equal destruction of money. Instead of accumulating claims on firms and State, banks accumulate debts instruments issued by the Pension Fund PF.



Being backed by the cash-flow generating a rise in capital assets, those debts are perfectly sound instruments that could replace (partly) State bonds and compensate for the impact of fiscal squeeze on financial markets. There must be a strong demand for those pension bonds creating derivative markets, etc.



Therefore the Pension Bankruptcy cannot exist, not because of dire "Keynesianism" but because of the objective laws of the capitalist market economy.



What is true is that the "Reform" is to generate real scarcity.



It aims explicitly at targeting now a surplus for PF to attain a long-run 0 deficit. The surplus is to be attained by squeezing R though various mechanisms and forcing a rise in S.



In the context of DG �CARSPECIAUX 163 \f "Symbol" \s 12�£� 0 and a balanced trade account DE =0, the policy must lead to a collapse of �CARSPECIAUX 80 \f "Symbol" \s 12�P� relative to I materialized by F turning < 0.



3	It is obviously not the way to full employment (sometimes experts seem to postulate full employment for some mysterious Harry Potter-like economics)





Such a squeeze led policy hinders full employment and growth because of the following process :





1/Collapse of F and therefore of firms liquidity



2/Firms are obliged to impose restraint on employment (and therefore on W) just to maintain some minimum rate of profit��



3/It leads in the long run to a lower level of I because of vanishing daring bets on the future)



4/Preventing future growth��

The collapse of assets value has a negative impact on banks, which are short of sound assets.



4.	Therefore real scarcity is to be the fate of the future already suffering from scarcity of public investment because of spending squeeze as proven�. A policy targeting both growth of outlays and an equal rise in taxes is unsustainable.



5.	One must also understand that some regulations are themselves generating scarcity such as:



uniform decreed shorter working time (it was some masquerade for stringent fiscal discipline), an idea from olden socialist politicians in 1935;

uniform retirement age more and more early (in olden times pensioners were broken workers living on rather nothing);

lower income for pensioners that for the working population (a legacy of ancient era).



All those points should be debated. I just wanted to dare some ideas.



Nothing change when a share of S is raised on firms. It is always a net drain on cash-flow. We should therefore accept lower pensions contribution for firms.



CONCLUSION :

There cannot be a financial scarcity. When they summon the nightmare of a « lack of cash » to fund Pensions, politicians (and their experts) display their misunderstanding of the fundamental principles of the monetary market economy.

Whatever their amount, Pensions are automatically financed by contributions of income earners and borrowing savings generated by the so called Pension-Funds deficit. Such a deficit in the modern monetary economy is an automatic source of cash-flow (as proven) sustaining the growth of the value of assets (both financial and real). It could help to sustain employment and growth in the Euroland as long as the growth and stability plan is maintained as the existence condition of the Euro.

Ultimately it has been proven that those who are obsessed by the Pensions-led bankrupcy substitute a false problem for true problems and therefore mortgage the future.
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